CrampPron

Power & force

Mogenb: T525/525-2

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Ne ApTUKYN HanmeHoBaHune K-8o Ne ApTUKYN HanmeHoBaHune K-s0
1| 5230502401 | BonT M5x20 > 14 1 5330100901 | Mopumesoe konbilo 2
2 L7T CBeya 3axkuraHusa 1 15 5275101001 CronopHoe KosbLo nNanbLa 2
3 5010130201 KpblwKa umnnHapa 1 16 5290102701 MNaneu nopuwHaA 1
4 5230503401 Bont M5x12 1 17 5300301001 MoAwmnnHMK Nanbua 1
5 5010197101 Haknagka KpbIWKK uuamHapa 1 18 5860102501 MpoknagKa nog Tenaon3onaTop 1
6 5870100601 MpoKknagKa raywutens 1 19 5010129801 Tennounsonarop 1
7| 4020100701 | Taywmrens ! 20 | 5230503501 | BonT M5x25 2
8 5231001901 Bont M6x55 2 21 5860102601 Mpoknagxa nog Kapbropatop 1
9 5230503401 Bont M5x12 1 22 4030200901 Kap6topaTtop 1
10 3020700101 MoplHeBasn rpynna KOMNIEKT 1 23 5010130501 Kopnyc ¢punbTpa Komnnekr 1
1 5180200901 Unnunap 1 24 | 5230603601 Bont M5x50 2
12 5860102401 Mpoknagka umnnHapa 1 25 5260101601 LWarba 2
13 3020700201 MoplweHb KOMNAEKT 1 26




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogenb: T525/525-2

Ne ApTuKyn HaunmeHoBaHue K-Bo Ne ApTuUKyn HanmeHoBaHwue K-80
1 5150108201 KpoHLWTeNH KpenaeHus ctaptepa 1 14 5230503501 Bont M5x25 10
2| 5230502401 | BonT M5x20 4 15 | 5110136601 | CanbHuk koneHsana 15x30x7 !
3 4030503201 CrapTtep B cbope 1 16 4010400701 MaxoBsuk 1
4 5150107401 Mpoknagka nog craptep 1 17 5250500801 lalika KpenaeHnsa maxoBuKa 1
> | 5250500701 | Taiika M8 1 18 | 5260107701 | Waii6a 2
6 4010501101 MnaTta cobauek cTapTepa 1 19 4030101101 Cuennenuve 1
7 5110136501 CanbHUK KoneHBana 12x22x7 1 20 5260105501 LLlaitba 6onTa KpenneHus cuenieHns 2
8 5860102301 Mpoknagka KapTepa 1 21 5239900801 BonT KpenneHus cuenneHuns 2
9 5300100101 NoawunnHmK KoneHsana 6202 2 22 5180402301 Kpbiwka cuenneHna 1
101 5320100901 | Konersan ! 23 | 5230502901 | BonT M5x30 4
n 5290200101 LLinoHKka maxosunKa 1 24 4990103201 bak TonAnBHbIN 1
12 5290100101 Wrnot 4 25 5010130601 3awumTa TonamMBHOro H6aka 1
13 | 5810102101 | Marwero 1 26 | 5180101901 | Kaprep komnnext 1




CrampPron

Power & force MANOCTPMPOBaHHbIM KaTasor 3anacHbIX YacTel Mogenb: T525/525-2

Ne ApTuKyn HanmeHoBaHwue K-Bo Ne ApTuUKyn HanmeHoBaHue K-80
1 4010204401 Kopnyc cuenneHus Komnnekr 14 5260100501 LWaiba 1
2| 5230903101 Bont M6x30 15 | 5250502301 | raiika M6 1
3 | 5230503401 Bont M6x12 2 16 | 5230502901 | BonT M6x30 2
4 5230903201 Bont M6x25 1 17 4030308201 JleBas pabouan pykoATKa 1
5 5300400301 BTynKa Bana wrtaHrm 3 18 5322104201 Ban wraHrm BepxHAs NonoBMHa 1
6 5310108101 LLITaHra BepxHAs NoN0OBMHA 1 19 5285101601 Cronop Bana 1
7 | 5190108401 KpOHLUTEiH KpenneHms PyKOATOK 1 20 | 5250300601 | raiika 1
8 | 5230503501 BonT M6x25 3 21 | 5230603501 | Bont 1
9 | 4030314401 :;’:g:;:j; :52:2;”:;’::’:;";’;? ! 22 | 5010250301 | OrpanwauTens xomyra !
10 5010259201 BTysKa wraHrm 2 23 5010250201 XomyT KpenneHua peMHsa 1
11 5180120801 MydTa WTaHrM coeanMHUTENbHAA 1 24 4030315401 PyKoATKa ynpaBneHnUAa KOMNAeKT 1
12| 5230902501 ot M6x30 1 25 | 4030315501 | Tpoc rasa 1
13 5010259001 BonT kpenneHus mydrbl 1 26




CrampPron

Power & force MANOCTPMPOBaHHbIM KaTasor 3anacHbIX YacTel Mogenb: T525/525-2

2

Ne ApTuRYn HavmeHoBaHue K-Bo Ne ApTURYn HavmeHoBaHue K-s0
1 5310108201 LLITaHra HUKHAA NONOBUHA 1 12 5250301601 laiika M5 4
2 5300400301 Bry/ika sana wraHmm 3 13 5010126101 KorKyx 3aLmTHbIN 1
3 5010152901 KpOHLWTEWNH KpenneHna Koxyxa 1 14 5240201401 BuHT 4x12 2
4 5250300601 lalika M5 2 15 5150140201 Hoxk Koxyxa ana obpeskun necku 1
5 4010107001 PepykTop 1 16 5230503501 Bont M5x25 4
6 5230503401 Bont M6x12 1 17 5230503501 Bont M5x25 2
7 5230903301 Bont M6x35 1 18 5285101601 Cronop sana 1
8 5250301501 laiika M6 1 19 5322103801 Ban WTaHMM HUKHAA NONOBUHA 1
9 TprvMMepHasa roNoBKa 1 20 5190112001 MNepexoaHuk Banos 1
10 Hox 1 21 3021500301 KO»KyX 3aLUTHbI KOMNAEKT 1
11 5150134401 MnacTuHa KpenneHua KOXyxa K peayKTopy 1 22




